Scottish Enterprise Economic Impact Guidance


Displacement

	Displacement is the extent to which the gross economic impacts arising from an intervention are offset by reductions in these impacts elsewhere within the area that the policy intervention is to benefit, in SE’s case elsewhere within Scotland.


Why is it important?

Many of SE’s interventions seek to improve the competitiveness of targeted businesses, sectors or areas. However, support is not normally available to every business, sector or area.  As a consequence of targeting support in this way it is likely that some of the gross gains for beneficiaries (for example increases in turnover) will be offset by losses for non-beneficiaries as competition increases and they lose market share. Accordingly in an appraisal it is important to examine the extent to which the intervention will have an adverse impact on other businesses.  Likewise, evaluations need to examine the extent to which other businesses may have lost market share because they did not receive support. 
When do we need to consider displacement?

Displacement is one of the factors that must be taken into account when converting gross to net impacts in both appraisals and evaluations.  Failure to take account of it will mean that net impacts are overstated and this would bias the assessment of both relative performance and value for money by making the intervention’s impacts look better than it actually is.
What types of displacement might occur?

There is a variety of displacement effects which can occur as a consequence of public sector interventions:-
· Product market displacement: occurs when support is provided to one business to, for example, improve the efficiency of its operations or increase production. Through this the business may be able to increase its sales and turnover. If these gains are at the expense of other companies within Scotland then there will be product market displacement; 
· Labour market displacement occurs when a company increases turnover following public sector intervention and has to recruit additional staff. This increased demand for labour can impact on the ability of other businesses to retain staff or recruit from the same labour market which, in turn, could harm their ability to compete. Increased   labour demand can also drive up wage rates in the local area, which can impact on the cost base of all businesses who employ staff with similar skills and qualifications, regardless of whether or not they have benefited from support; 

· Property market displacement can occur where support is given to provide new business accommodation and this attracts tenants from existing properties in the same area.  While the property provider has clearly benefited from the support received, this may be at the expense of other accommodation providers. Alternatively, there may be an effect on property prices due to an increase in demand for accommodation from growing beneficiaries which could impact on the cost base of others; and
· Capital market displacement can occur where support is provided to assist businesses to access investment funds from public or private sector providers. This might then reduce the funding available for non-beneficiary businesses.

It is clear that a variety of displacement effects can occur through the different markets in which beneficiary organisations participate.  However, generally the main focus is upon product market displacement, with the other three types being normally only commented upon if felt to be relevant.
What will influence the level of product market displacement?

The extent of product market displacement will be influenced by a variety of factors, including:-
· How universal is the intervention? For example, if support is freely available (for example, online information services that any business can access) then displacement can potentially be very low. Conversely, if support is provided to a limited number of  businesses then displacement effects may be much higher;

· The uniqueness of the products or services produced by the beneficiaries. In general terms the more distinctive the products or services of beneficiaries then the lower product market displacement is likely to be as there is less likelihood that there will be other businesses in Scotland offering the same products or services. However, this needs to be treated with a degree of caution as there can be disruptive technologies that result in totally new products and services. In these instances there may be no Scottish competitors but the new products may totally disrupt or even destroy existing markets so there can be a major displacement impact
. Likewise displacement impacts may be high if the products or services are similar to those provided by Scottish non-beneficiaries; 

· The geographical markets served by beneficiaries. The higher the proportion of any increase in sales by beneficiary businesses which is made to customers based outside of Scotland then the lower product market displacement is likely to be.  Conversely, the higher the proportion of increased sales made to customers within Scotland then the higher displacement is likely to be, assuming, of course, that these local markets are served by other non-beneficiary Scottish businesses; 

· The location of competitors. The higher the number of Scottish competitors for sales in the same geographic markets then the higher displacement will be. Conversely, fewer Scottish competitors will mean lower displacement;

· Market conditions. Displacement will be lower in growing markets where beneficiaries can increase market share without necessarily unduly harming Scottish competitors. Conversely, if markets are static or declining then winning market share is more likely to be at the expense of other Scottish competitors and displacement will be higher; and

· The target area that the intervention is intended to benefit. Generally displacement increases the larger the spatial area of interest. For example, an intervention targeted at a sub-region is likely to have a lower displacement effect on other businesses based within this sub-region than the same intervention delivered throughout Scotland. This partly reflects the fact that larger regions tend to have more regional competitors servicing similar markets with similar products and services.

A full and detailed examination of all of these factors can be difficult and resource intensive. The approach outlined below, whilst it may not explore all of the issues outlined above has the advantage of making it easy to gather the necessary information as well as being understood by interviewees.  
How do you estimate the level of Product Market Displacement?

To estimate product market displacement beneficiaries need to be asked, or estimates made of, two key factors:-
· The location of the company’s competitors; and

· The state of the market that the company is operating in.
The location of the company’s main competitors is assessed by asking beneficiaries where their competitors are based using a series of graded questions from “All businesses I compete with are based in Scotland” to “None of the businesses I compete with are based in Scotland”. This is then followed by a further question which asks interviewees to provide a percentage estimate, if this is possible.

Market conditions are again assessed by asking interviewees to give responses to a series of graded questions, ranging from “Declined strongly” to “Improved strongly”.

A “ready reckoner” approach is then used, with a standard weighting being applied to the responses, although if interviewees are able to provide a specific percentage response to the main competitors question then this is used. 

For example if all competitors are judged to be based in Scotland then the displacement percentage would be put at 100%. If they then said that the market in which they were operating had “Grown strongly” than an adjustment of 0.5 would be made to the displacement percentage so that the final product market displacement factor would be:-

(100 x 0.5 = 50%).
The questions to be asked are outlined in the Standard Question set which is to be used when assessing the additionality adjustments.

What about other types of Displacement?
Other types of displacement are generally much more difficult to quantify, and the effort required to provide robust estimates of the negative impacts may not be justified. In general, therefore, only a qualitative commentary is required unless the necessary information is readily available. 

The only instances when this might not be the case may be for labour market displacement, especially when the intervention being supported can only be successful if skilled staff are recruited. In these instances labour market statistics for the local area, on such things as the occupations sought by claimants, can be examined to obtain some indication as to whether the necessary skills are available
. It is also worth exploring whether bodies such as Skills Development Scotland have undertaken research on the labour needs of particular sectors. On the basis of this evidence it may be felt that there may be some need to make a percentage adjustment to the gross impacts.
Need more help?

For further information contact:-

Suzanne Fleming, 0141-228-2062

Suzanne.fleming@scotent.co.uk 
� However, this is not to argue that such disruptive technologies should not be supported by the public sector. Providing support may be a way of enhancing Scotland’s economic competitiveness in the longer term which may more than offset any short term displacement impacts.


� � HYPERLINK "http://www.nomisweb.co.uk/query/construct/summary.asp?mode=construct&version=0&dataset=64" ��http://www.nomisweb.co.uk/query/construct/summary.asp?mode=construct&version=0&dataset=64�
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